Optional Shaker Motor installation Instructions

Kit Contents:

1.

5.
6.
7.

Shaker Motor Assernbly with Harness Ref. Decal (1) (515-5893-01 + 820-6407-5SM2) + Securing
hatdware: #8-32 T-Nut (4) (240-5101-00 and #8-32 X 5/8” SHWH Screw (4) (237-5975-03).
Cover with Warning Decal (1) 545-5241-00 + 820-6062-00) + Securing Hardware: #8-32 X 3/8”
SHWH Screw (2) (237-5967-00). _

Shaker Motor PC Board with Spacers (1) (520-6803-00 + 254-5007-01) Securing Hardware: #6 X
%” SHWH Screw (4) (234-5003-00).

Shaker Motor BRN-GRY & RED-WHT wiring harness (036-5537-00) + 5- 1/2” Cable Tie (4) (040-
5002-02).

Shaker Motor Ground Tap harness. (036-5602-01).

This Instruction Sheet (756-5027-02).

Installation Template (756-5027-00T).

Tools Required:

Drill + 7/32” Drill Bit, 4” Nut Driver or Flat Head Screw Driver, Hammer and Scissors.

Procedure:

Ensure Power is Off While Performing any Task. Note: Depending on when your game was manufactured, steps 1-
3 may have already been performed at the factory.

1.

2.
3.

o v

9.

Cut out itém (6} Template included in kit. Lay template in front left cabinet {left side of cash box).
Reference A & B to align template to these edges.

Drill four (4) 7/32” thru holes as shown using the cut-out template as a guide.

Tap in the four (4) #8-32 T-Nuts (included) with a hammer from under the cabinet.

Place itemi (1). Shaker Motor Assembly in cabinet and align with holes drilled in step 2. Apply Loctite
#243 (not included) to the four {4) #8-32 X 5/8" Screws {included) and hand start while holding the T-
Nuts from below to keep from getting pushed out. Once tightened, the T-Nuts will draw tighter into the
cabinet.

Install item {3) Shaker Motor Board (SM PCB) with four {4) #6 X %" screéws to the side of the cabinet.

Plug in the 5-Pin connector from the Shaker Motor into the SM PCB (J2).

Install item (4) Shaker Motor BRN-WHT & RED-WHT wiring harness. Plug in the 7-Pin connector from the
harness into the SM PCB (J1). Plug in the 2-Pin female connector with the (red/white} wire into the 2-Pin
male connector located in the front left side of the cabinet. Plug in the 3-Pin female connector with the
{brown/gray) wireé into the 3-Pin male connector located in the back of the cabinet.

Install item (5) Ground Tap harness. Locate and uriplug connector {j16) on the I/O board located in the
backbox. Plug the Black connector from the harness to the {J16) connector on the /O board. Plug the
White connector from the harness to the connector that was previously removed from the (J16)
connector. Route the 2-Pin connector from the harness down from the backbox into the cabinet and up
to the SM PCB. Plug in the 2-Pin connector from the harness into SM PCB (J3).

Attach item (2) Cover to the shaker motor assembly with (2) #8-32 X 3/8” s¢rews (included).

756-5027-02



00-£Z0S-Z0S | 09709 "I “NYvd ISOUTIW “IAV IDINVL 0Z0Z

on 1vd| UL ‘[fequid uda3ls
U .

8|03

35 1 T — 00—L£ESS—920 9y} oyuf siyy Bnid -epis Yo
f 3 d 9y} UC JOOp UICO By} JDBU PAPdC| B(QLI
ONIUIM LDI HOLOW UIIVHS SToE T m:»mm_: = IV JUIGDO BUY Jo Jjo §1 JOJIBULOD SIY|
FLL 1lva “NMQ
swu oy
90 AOPE+ YV A9} - —
——— g 1
o190 eumEo Ui oy T 0 TG
[€T] i T/~ SUA =0pA
h. AT
% Y1d
e ON
s
0l—m
gip pioq o/ |6 55
wouj Asnojnesd |8 | N
o/a0o Busixe T - 10'Z095-960 g
oM SOl (= TG B9 dey punos :
% e ajqed del p! L] W M
e amd
Lt G A -~
- T A ==
P.Eaﬁm_ _ _ B
1] T HE
- LHM X 16 g M _J3
- 117 A9 03 m " ¢ || € 1AM a3y ,
] O A¥D 00 AZTH elle m m A3 00-2655-960
<] mwm \ $0-6205°110 AR Sl Sf m7 oj|qed 00| oNeys
1w| a 10301 103EYyS L]t w. w A9 Ny
gir ploog gl nmm 00°6089-028 A4 NYg
o/t o s e ! H0E685-516 pAeog 9Alg 1030
5 (00-6215-9€0) a1qE Yy
T 14 Aeey Bupunow B Jojol JoNeys 00-ehLS-51S
iy { . {s1eouds Junow deus yym)
.nwl..ﬁl Assy pieog 19AlIq 10}0W
ST

JUBiBUIp oq |iM J0j0d Sk LMD NME SY) SNyl *9ALp
134SON Juasayip b 8en Abw 0Oz ©} Joud sswmb sjoN

00-L205-20S
L) HOLOW UDIVHS

ajqes N
pioyAejd eja pieog 80 AYO NYE
O/l uo 134SON oL N

9|qp2 1 00—LE£GG—-9¢0 Sy} ol sy} bnig
‘wiojloq j8uIqDS 8y} Ul ssoo| Buibuby pup
8|qd paigAnid 3y} JO 4o S| J0YOBULOD S|

o
| ) A4O Nud
: ON

102 ‘02 LSNHNY HOIHd AIUNLIVANNYIN STNYD HO4




— iy ——— — — — —— — — — (i ——— WD M — T, —— — oo S— — . pooo" Ilnll!lllllllI.I.Ill'lll!'lllllﬁllll.!.l‘llllll!lJ

1437 LNONS ._.mz_m<0 HAISNILA3A0V1d 39 OL v
ALVIdANIL 02_.E.On_w TI0H. bz_._.ZDOs_ HOLOW HIMVHS

e
@ - @ $93@
a.mnube
SeLY 5
QD 3
g..m_.%n @
,. S S ETD p
P X s..m,cm.m £
| 2 E
| y  sgfe :
] o) SS9’ o &
| T aEEEs =
_ = mlm\wa k)
; D 4o = =
! x - 2
i xI B0 D ks
. : £ 0« k)
] ﬁ o=
| = 23 /
] N 03] /
. @ \
/
/
7/
7/
s
/

¥8-00~420G-208 }M 4030y 49)eYS [euopdo 1o)

ayejdwa] :o;m__ﬁw:_ ._Bo_z .nmv_me_w _m:o;n_o



